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Carrect Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 |why the per capita water availability in India is reducing

Group-1 Sub Group-1 and Group-2 Sub Group-1 Combined Recruitment Test - 2023

e 1 vl sufd urll &) SuasE 949t 5 8 @l 8

A | due to decrease in pollutien Tguur ¥ &t &F HRU

B | due to less use of rainwater gl ow F S STURT & R0

C | due to decrease in population SR & w9 & eRO

D due to the increase in population o | E[@ & BRI

Q.No: 2 | Material deposited by flowing water is called gd el g1 M g & Tl Wl &
A Alluvium Gl?ﬂa

B Alluvival Fans wdlg U

C Albeda aeas!

D Grid o | | ) - E@

Q.No: 3 | Which of the following is an economic activity? ﬁuﬁﬁ&aﬁ '-?{ aﬁ-‘raﬁﬂ a—rrfﬂrﬁ Tfafafy &2
A | To play football by a student v o W peard SaHr

B | To teach son at home W W S0 9 B ug

[ of Teaching of a teacher in the school HHd k] TF frers w1 gl

D | To serve her child by mother o T 39 T Y THUE FEA1

Q.No: 4 Which nozzle covers the entire area at small range and the construction is similar to hellow cone nozzle with the addition of an internal jet which strikes the T 1 Ao T AT P B Y e & Ji o e ol S ¥ SRR et %iw A

rotating liquid just within the orifice of discharge?

| Fan nozzle
Floodjet nozzles

Fan type nozzle

o 0 ||

Solid cone nozzle
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LN LTV

AL LR LI A L s TS A L ¥ LI R R

rrrres - R T e L E T (R U R TIVAR PR TR

W 200 W AT 20 Wf

A | 200cm and 20 ¢m respectively
B 150 cm and 15 cm respectively A 150 At AR 15 Wi
c 122 c¢m and 25 cm respectively T 122 F 3w 25 T
D | 100cm and 20 cm respectively P 100 A AT 20 W
Q.No: 6| The logical sequence of water resources planning are T HureE e @ arfes w1
A watershed plan, sub watershed plan and Site management plan qTeTE Tiwl, ST dIeNsis g ﬂ?mﬂ?ﬁﬁ ae
B Site management plan , sub watershed plan and watershed plan rge WY TiSH1, 99 9revds g 3R aredis g
C | site management plan, watershed plan and sub watershed plan e YEL ST, qevLs die-T S B ATS AT
D water conservation plan, watershed plan and sub watershed plan T TTEOT TSI, FTEIRS SIS Y IO aevdE gien
Q.No: 7 |Which device unit that emits ultrasonic sound waves to create an acoustically hostile environment ? e &Y 8 TEAYUl aIEel S & (60 S U IUH S Segraiie b awl 1 e @
A | insect & mosquitoes repellent He Ak e feds
B mosguitoes repellent T fAeds
C insect repellent Pie fade
D Rodent repellent aw Rede
Q.No: 8 |In power sprayer which part is used to prevent corrosion o O WaR W e $1 Ve & A0 e WnT @1 IEnT o g
A | copper strainer a4 & vt
B Steel Tank A e &
[ Prime mover ISR
D g wittew
iron Agitator

Q.Na: 9| Major seurce of methane in India is o wﬁﬁfﬂﬂﬁﬁm@ﬂ%
A Mustard fields wil & ae
B Rice fields A ¥ /a9
c | Maize Fields TFDT F B
D | Wheat Fields g F G

A.P.P. Will be equal to (Y = output, X = input): QL. T THE B (I = 9T, TR = SIE)

I XY I XY
Q.No: 10

IL X/Y x 100 I X/Y = 100

II1. Y/X III. ¥/X
A Only II ad 11

Only I11 @ 111

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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vy L wua L
D All I, IT and III it III 3R IIT

Q.No: 11| Clouds responsible for rains during summer are called oten g & oot & fom St ae @ Te0 €
A Cumulonimbus TR

B | Cumulus TgREH

C !Stratus wed

D Cirrus T

Q.No: 12 | Government constituted Sri Hanurnantha Rao Committee in which year for proper managernent of land, water and forest in rural area?

TREHR J gt &3 § 4, o0 R ST & I TEeE R R ad of g v afii aiaa &t

A 1983 1983
B 1950 1990
c | 1980 1980
D | 1881 1981
When a large number of sellers deal in heterogeneous and differentiated form of a commeodity is called | ﬁﬂﬁ@ﬁ 3 faipa fpdt o 1 g SR feld su S P e SR a1 A &....
1. Duopaly Market L. z0UR SR (gl mhe)
Q.No: 13|
1I. Monopaly I1. usfeR
| 111, Monopelistic competition 111, eI uladiiTar
A All 1, IT and TIT [t 1,11 3T 111
B | only 11 e 11
c |only I FEa I
D Cnly I1T e 111

Q.No: 14 The members of chlorophyceae are commonly called :

m%mﬁm:wm%:

A Blue algae e Srara
B Green algae s'ﬂﬁhﬂ?l

C | Black algae FTeT SraTE
b} | Yellow algae frer Sarer

(Q.No: 15 | A device used to measure liquid pressure in a system by measuring the height to which a column of the liquid rises against gravity

& Iud0 forre1 g fdt vowelt # wRe gaa # ued & R o omen g, B S ae wma e

A piezometer dreirdier

B turbiodometer efdatehfter
C electrometer Sﬂﬁﬂlﬁl‘?
D | galvanometer Tredsiste

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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Cashew

| Karonda

.
A
B Date palm
&
D

Aonla

Q.No: 17 | Variable costs are also known as ?
A Non unit costs
Even costs

Unit-level Cost

o n W

| Sim ple costs

Q.No: 18 | At the balance sheet date, the balance on the accumulated provision for depreciation Account is

OaRITe ARt 1 SR o A § S 8
* 337 e

T AR

THIs TR Pt AN

HIHTRVT 1T

qet yd ol ardle U, eugid @il ¥ fag did wasr gz 9y ul @imiaka @ wdl ...

wm iy B1f @ # mrTafe

A | Transferred to Profit and Loss Account

B Simply deducted from the asset In the Balance Sheet mWﬁﬁﬂﬂﬁﬂﬁﬂﬁfﬁﬂwﬁﬁﬁﬁ%
[ Transferred to the Asset Account iy G d RN

[ Transferred to Depreciation Account e W § wHahE

Q.No: 19 Tea mosquito bug is a major pest of - GRS T %[ Uk Wid e Bl

A Date palm Lemid

B Cashew CaR

c Custard apple biciia g

D | Aonla -

Q.No: 20| Rotenone value in rats is approximately 60-135 mg per kg o-f bo&y weight is n;ore taxic to. I E@ ﬂ‘ﬁ%‘h?ﬁrﬂﬁ EITN-FT 60-135 firimmm ufy feamm § & TR & e o1 & forg &
A male female ﬂﬂmﬁiﬁ

B male rats T gl

C female rats Wa,?

o] | female cats T fafemt

Q.No: 21| based cropping system is predominant in low lands of India iy wow ot W @ Pty mra g
A Rice EICH

B Lentil T

C Wheat g

D Sugarcane =l

Q.Mo: 22| First 15 cm layer of land which is ploughed for cultivation of crop is called:

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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=on
Soll profile

Furrow slice

o 0 m F

Rhizesphere soil

Q.No: 23| Implicik cost may be considered as

1yl

T wiTEa
TR T
TR firdt

Siaf-ifgd ara @1 ... T W1 T §

A Social cost

B Private cost
[ Normal cost
(8] Variable cost

Q.No: 24| The most common type of respirator used by pesticide applicators.

AR AT
folt amme

A AT
ufadwEie @

TR UiRnhed BR1 JuanT & S are Tad W TaR o 4R |

A | vapour respirators T YTHUA
B Cartridge respirators E[ﬁﬁ UIGUE]
(o charcoal respirators ARG YTHET
D | purifying respirators 3@?&' ﬁﬂﬁ Hlﬁ ’H'I'H'EIH
Q.No: 25 | Fruit cracking disorder is due to the deficiency of B ST [SUaiER et = @ drm 22
A Au Au
B B B
C Ag Ag
(3] Zn Zn
T W R G H SmafRy gef ot o get 1 or@: T Smufy ool Y @) o Wi
Q.No: 26  Number of Agro-ecological zenes In India Is R § piu-mifaie & of 9 §
A 15 i5
B 20 20
C 10 10
D 12 12

Q.No: 27 | Which gloves are not suited for handling pesticides.

A | Neoprene

B | butyl rubber
[ nitrile

D Leather

(Q.No: 28| Rice supplies are primarily attacked by which types of rodents

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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A usgooa 5 rat SIS W YRl
B Annandale rats TR T
C | Timor rat ﬁ"ﬂ?ﬂi‘l
D Bandicoot rat. '3‘%@5-@1
Q.No: 29 Which is the first piece of PPE to be put on and the last to be removed. didig o1 Tger W B O ¢ S T 9w o it ol gern Wi #1
A Gloves Eisic]
B | Face shield g ot
C | Boots ]
D Goggles Pt T
What do you mean by under conditions of perfect competition in the product market? Foarg arere # ol ufred #5 Ul & amue @ amrg g7
| I. MRP=VMP I. MRP=VMP
Q.No: 30|
II. MRP >VMP II. MRP >VMP
| IT1. VMP=MRP III. VMP=MRP
A Al T, IT and IIT w0l 1,11 SR 1Ix
B Only I Faa 1
c Only II &aa 11
D | Only 111 o 111
Q.No: 31| Rats do not spread disease through their: 4B ¢ A0 R 3 T & 1Y e
A blood EL]
B saliva e
C urine L E]
D bites Bkl
.No: 32 The contribution of Photo synthetically Active Radiation ‘(PAR) in crop prod-uction is TF\H?T G'tq'l?ﬂﬁ UehT=I E’H@WUI ¥ ity fafdmor (PAR) o1 dNgH 2
A | 8-16% 8-16%
B 12-20% 12-20%
c 2-10% 2-10%
D | 10-14% 10-14%
Q.No: 33 | Which of the following is the most important factor affecting climate Rufiad T3 @ ueldly ol wiifdel $e9 diell Yad 'JIGE:H,UT B ©
A Topography i
B Latitude SR
C | Gcean currents AR &1 T
D I Distribution of land and sea ’lg:fﬁ' Eh = o7 farewor

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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e vy ov gd A smafy gel ot o gt B s T smafRr gt E # o w@h

Q.Mo: 34 | Which of the following is not salt tolerant fruit Crop?

A Aonla

B | Karonda
[ corn

D Date palm

Q.MNo: 35 In India Locust warning erganisation of the Govt. of India was established from April 1939 and in 1942, a coardinatian

LG AR K e R G E B Gl Ty
Jiqen

Eaic

P

TR

was put into operation. yRE § TR % fegt arit TTea @ RO atw 1939 ¥ g% &t o 1042 F, tH O -

A Locust killing operation

B Desert Locust Project

[ Winged locust swarms control
D Antilocust Scheme

(Q.No: 36 The constituent responsible for the aroma of apple is

A Ethyl-2- Methyl
B Eugenol

C Isapentol

D Hexyl buterate

Q.No: 37 | Long curved cards are used in sunshine recorder during

A 12th April to 2nd September

B 3rd September to 14th October
C | 15th October to end of February
D 1st March to 11th April

Q.No: 38 Which ameng the following is considered as rain bearing clouds

fodt Wt w1 st
Fer fegh ufidiorn
vt arer ot aa e
il giem

B W UEH T F1 I % o Frer g
uitre-2- framge

et

AMERe

e sggte

e RFTER # 6 gAHeR F1E ®1 Sugn far = &
12 e 9 2 R

3 R 9 14 o

15 JagaY | BaN & 3id 9%

177 11 arfta

[rafoifc i & pd anl a1 aigd b e i ol il @

A Stratus wed

B | Cumulus HHAH

C Nimbostratus mﬂ
B} | Stratocumulus wrRgHeH

Q.No: 39| Silver shoot in paddy crop is due to the attack of which pest

- il el 1T [e-ge [y e & gid 3 R &l 87

A Stem Borer Nl BT

B | Spiny Beetle Tt dtew
c Gall Midge Tite firor

) | Grass Hopper T AR

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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Q.No: 40 The scientific integration of different independent and interacting farm enterprises for efficient use of resources is called

A Mixed Farming forfre St
B Mixed Cropping firfea waer
C Integrated Farming System TPiEa H womet
») Crapping System T HOeEt
Q.No: 41 | Integrated Watershed Management Programme (IWMP) launched in which year? Uailcpd dicste uded Bldail (IWMP) [ dy g i a2
A 2005-2006 2005-2006
B 2001-2002 2001-2002
C 2009-2010 2009-2010
D 1990-1991 1990-1591
Q.No: 42 | What is the strategy for watershed management? e UgyA & o @ wHig 22
A to activate environmentalist quhvrﬁaaﬂﬂﬁ!mmﬁ%%q
B road constructien e o
C production of quality water at the right time & place 'ﬂﬁmaﬂvmwgﬂm@fﬁamm
D to understand loss of energy T @ 71 F e & R
Q.No: 43 What is the objective of watershed management to treat all environmental concerns in integrated 'manner? RS WH 1 JoTd T ¢ o SerR V6L &1 gew, aut nafroia Sefia o v wwied o
A | Increasing living standard Silaq w7 ﬁ@
B meeting the problems of land and water use lﬁ&ﬁ?ﬁam a?rmwaﬂaﬁq:ﬂm
C maintaining growing population TG WAEEN BT T T
D sustainable distribution of its resources S HEIVET T Had e
(Q.No: 44| Who should apply pesticides m.ﬁl T G S TR
A Pest control operatar #ite Friao siuyes
B pest controller e Friae
C | pest terminator Fie efiffer
B Pest operator @ Afavet
Farm planning involves: FH I WA E....
Q.No: 45 1. Preparing farm budget in advance L. TEd ¥ PN a9 F®R S
II. Selecting and adopting best package of practices I1. W41l & Jalom Ofd o1 90 AR T A
A Both I and II 1 3% 11 T
Neither I nor 1T a@rdn

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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Q.No: 46

A

B
€
D

Q.No: 47 | Two Qilseeds occupying major area of oilseeds in India are

———y —

Only I

Agquiclude does not yield water it is a
geological formatien which is impermeable to the flow of water

fluid reflecting a significant amount of incoming light

molsture percentage

Albedo

Hae I

Aquiclude Y I Jiig 3T el & U |

e T o urht & vare & R e §

3T arelt TR @ e AEayyl A ) it e e @ el
Tt wiemre

st

YR # foee % vE &89 I U 9 9w &l foeed &

A Sunflower and Sesame e S g
B Groundnut and Sesame 'GL'I'Q‘i‘uﬂ oz i
C Groundnut and mustard TT'JIWﬁ 3% awEt
>} Castor and Sesame i R
Q.No: 48 Which respirators use an electric pump to draw air through a charcoal cartridge and particle filter. T T IO AR Dol 1% HO7 hees & meow | gan wiEs ¥ g ue safds w1 gaa
A | Cartridge respirators ?Flﬁﬂ oTaE
B charcoal respirators ARSI YT
C water respirator we YTdE
D Air-powered purifying respirators aTg-wTTeR B YT
Q.No: 49 | Charging dust improved contrel of insects and diseases on number of different crops are sprayed I-3-y e g% T fafis wue w1 o S F dgw e w1 feee s g e o 2
A Pneumatic atomizing sprayer TR TR BN
B Aircraft sprayer TATE BT
C Electrostatic sprayer m Enrd
) air-blast sprayer TaI-=IT gy
Economic growth measures the il famm T ..
L. Growth of productivity I, Jaureear # gia i
Q.No: 50
II. Increase in naminal income 11 1y 5 A ) 9l @)
| II1. Increase in output III. Fdre+ ﬁq@aﬂ
A Only II &ad 11
B Only I Faw
c Only II1 Tae 11T
D All I, IT and III it III o TIT
Q.No: 51| All clouds are contained in it A i guifea €1

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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=% lonospnere SIS I

B Troposphere R

C Thermosphere YHERR

[ Stratosphere 'QE"T%ECR'

Q.No: 52 National agricultural cooperative marketing federation {NAFED) established in the year- T P HEPR [GU0rT HERY (TUThEe)) B =T &g ad § g4?
A | 1960 1960

B 1966 1966

[ 1957 1957

D 1958 1958

Q.No: 53 The boundaries of a watershed is determined by AeedE o i B g fufa 2t ok §

A ecological balance miifRufes dges

B Ecological imbalance TitfRufee arige

c The elevation of the surrounding area STHYTH & 87 ®1 &g

D | The size of the river Tt B AR

Q.No: 54 Cold cloud seeding is done by injecting into the clouds Feal H T Toe BY Bies Farde UieT @ ot g
A Potassium Chloride urRfa EREs

B Ammanium Choride srmifery wEE

c Silver Iodide e amdieTsE

D Ammonium Sulphate iy wele

Q.No: 55 Suppliers personal a/c are seen in the arrqﬁ?mfaﬁ G T vovvrereeree. 3 U A E
A | General Ledger TRE WY

B | Nominal ledger ;ﬂéﬁﬁﬁ'{

c Purchases Ledger T AT

D Sales Ledger e A

Q.No: 56 What is the main component of Watershed Management to runoff and Nutrient loss? #Hudig 12 ditieh dedl o] gl ) NebA b U dicedls vsie bl 181 ded @il 82
A Urban runaff RET SOATE

B Rainwater harvesting a9t o e

C Energy crises Tt WP

D Ecosystem series w97 Tarsit

Q.No: 57 Abnormal leaf fall of rubber is due to TG T T fheE SR SRR w9 F e W §e
A Mycoplasma HISH Tl

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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Q.No: 58 | World Meteorological Organization (WMO) was set up at

| wiran
| Bacterial

Fungal

g4

fae AR fagm e (WMO) &1 R SRl # s 4@i?

A |usa SR
B Spain =

C | canada wHHTET
>3 Geneva o

Q.No: 59 | State having the largest area under arid climate is

T Sear A S AT TE §91 45 a1 I B 8

A Rajasthan MU
B | Punjab bEic

C | Madhya Pradesh HET WS
D Andhra Pradesh 3T wam

Q.No: 60 Maximum termperature during the day is generally observed between

fert & St sifiean g et o e we amafd o Jar wn @
e 2 99 ¥ SEN 3 a9 9%

ST 12 7o | gUeR 1 oW a%

R 1 79 J e 2 T 7w

A 2 pmto 3 pm
B | 12 noon to 1pm
C |1pmt02pm
o I3prnto4prn

Q.No: 61 | Yellowing of lawn grass indicates deficiency of which nutrient

A

| K

QIUET 3 99 T A 4 79 a5

clirl ol uiy ool dlctiud [y Que dad &l ill ol gl 27

B
%
D

o
P

Q.No: 62 | What are pest control warkers called

LI -

wle iz wfifal o) aur e @

A

B
C
D

Q.No: 63| The best use of limited resources is studied under the law of
|

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx

| Crop pest controller
| Pest Techniclans
Pest Management Exterminators

| crop pest technician

| 1. Substitution

e Fle Hdae
P qHARTT

FIe T HERT
HHd Bic aeaE

Aifra deryT & ydlan gualn o1 s By R sfadd a2

1. Wi
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II1. Diminishing returns

111, BTEHA @ (Ufwe)

A Only I Haa 1
B Only II &Fad 1T
c Only I1T Fad 111
D All I, IT and TIT ot 1,11 3T 111
Q.No: 64 Chlorophyll contains which minerals nutrient FAREa 7 9 T B 9 79 2 22
A Mn Mn
B Mg Mg
C | Cu Cu
D P P
Q.Mo: 65| Nira is prepared from the juice of AR ....... ¥ 0§ TOR T 9 g1
A Chashew nut T, o
B | Custard apple TET
c Palm tree T8 w1 Ug
D | Karonda ﬁm
Q.No: 66  Discharge is the volume of water moving down a waterway per unit of time. It is most commaonly e);pressed in e url @t aen 2 i ufd TﬁEWﬂ orernnt & A9 el 31 g e aifis f wm
A | Square meter per day ufer & @t dtew
B Cubic centimeter per day uﬂﬁﬂ o Fder
c Cubic feet per seconds T T Ui ¥hS
D | Litre per seconds or day ey ufd fde o1 g7
(.MNo: 67 | Primary objective of shelter belt is ; TEIW e @1 uie SRR B
a Reduce wind velocity BT T T T AT
B | Shade the crop : ﬂﬁiﬁmaﬁﬁ )
c Increase the water table o WY g A
D | Reduce the temperature AN 0 T |
| Costs that do not vary with production are..? S T FeTe & 91d T ggerdt 1.7
| 1. Marginal costs 1. e wnr
Q.No: 68
11. Variable costs I1. TiRadTeie @R
I Fixed cost 1. Ffera @
A Only II1 Fad 111
Only II e II
https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx 12/37
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D Only I FHada I
Q.No: 69 The enzyme-catalyzed transfer of phosphate groups from donor molecules to ADP to form ATP is called ATP TwRiwwr & e, g smpst & ADp o wikhe WET &, UoSH-SaiiG R $ HgT o
A .Photu-phosphurylatiun 'Gﬂﬂ-‘ﬁ?‘ﬁﬂ'ﬁﬂ'&'ﬁ
B Substrate-level phosphorylation W—Hﬁqm
c Oxidative phospharylation SifFrEfeg wiepREATA
v} | ATP oxidation ATP ifeiEor
Q.No: 70 Seeds are sown immediately after extraction in which fruit 0 T & o9 @1 FE  gid 918 991 96 87
A | Mango SHTH
B Date palm 9T
C | Custard apple Faripal
D Citrus e
Average product is equal to marginal product when: e Jarg Hid g & A gl & 9.
1. Average Product is maximum I. Gﬁ'ﬂﬂm Sﬁaﬁ'ﬂiﬁ
Q.No: 71 B
IL. Average Product is minimum I1. S Fale <LAaH 8
111, Marginal Product is zero 111, HHid IdE = &
A Only II PawII
B Only IIT P 111
[ All I, IT and III it I,I1 ST 111
D Cnly I Faa 1
Q.No: 72 The pest which cause damage to the grain at milky stage in Y dida 17 gf8ur side) 1 Sl ) eI gt didl e
A Earhead Bug SRR W
B Brown Bug A T
C Orsi Bug o a i ) Bﬁ'\_"\‘-’f’fﬁﬂ
[¥] Black Bug = &
Q.No: 73 | Swest potato is a g o YR ol Uil &7
A Long Day Plant wdt amafl @1 giur
B Short or long day plant T arater o wdt srfir o diar
[ Short Day Plant P araf 1 gt
D Intermediate T afiy T e
Q.No: 74 | Integrated Watershed Management Programme (IWMP) is launched by which department s aewgis Feede v (wmp) & faum g gE o g

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx

13/37



=% Ueparument or ecological palance ana 1aw HINKPCHIO9 Y07 S RITn M A

B Department of urban development et e v

C Soil science department Wﬁiﬂq fum

D Department of Land Resources of Ministry of Rural Development nritor e T = ’I@"\‘I'\‘ITW Ry

Q.No: 75 What does Price flooring mean? EH Wi & a7 anf 82

A Surpluses afiRy

B | Equilibrium LR

C | shortage Eize|

D Both Shortage and Equilibrium At el 3R Haed

Q.No: 76 What is the main cbjective of IWMP IWMP &1 T&T G539 31 &

A maintain food chain e §Ee a1 &

B Degradation of organic waste e way o1 AEtwr

[ to restore ecological balance by conserving and developing degraded natural resources such as soil and water ﬁﬁ 3T art o Gl'aﬂ"fh'ﬂmq?ﬁﬁ? wwreET o1 HaT i e wvd uhifdfie GG L GHE
D to conserve wildlife Y St & Geam & fow

Q.No: 77 What do you mean by the supply of goods? Rl F S e I S §2

A Total stock in the warehouse Tiem & $u Wi

B Stock available for sale et & forg wuew wis

[ Quantity of the good offered for sale at a particular price per unit of time maﬁuﬁ‘ﬁm‘w iy Stwa we et & FﬁETﬁﬁ[ﬁﬂ W%m?ﬁa\'{[ﬂﬂﬂm
D The actual production of the good aﬁaﬂwﬁﬁ'm

Q.No: 78 Solar energy utilization is high during the stage of crob, Wﬁﬂ? R % BRI GRS 1 IugiT S g gl
A Maturity TivE R

B Vegetative - - E_’-I'_v?qg

(o] Flowering Hd uci (ﬂﬁﬂ'}

D Germination SPI0T

Q.No: 79| An area surrounding a body of water in which that body of water is subject to Uil & 2 B ad-uy D1 U B4 Tl il bl g8 1 B sl a8
A Watershed aeRdE

B hydrological cycle E@Hﬁlﬁw

c Rainwater harvesting Tuf we Tua

D | ecological balance iR dge

Q.No: 80| CFB Box is used for packaging of Htuwrt S =1 I9diT e ik & fog e s a2

A Aonla aiqe
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=3 wustaro appie AP
[ Grapes o
D Mango S|
Q.No: 81 | For washing fruits and vegetables, the concentration of Chlorine should be el i vfewl @ O F o e # oigo fSRet e aiikee
A 300-450 ppm 300-450 difiga
B 50-200 ppm 50-200 gy
c 250-400 ppm 250-400 tdigH
D 200-350 ppm 200-350 fidigA
The charges of placing commodities into a saleable condition should be charged to: TEAT @1 fawi drg fyfa & T8 1 Yo o o ..
1. Trading account 1. 2T a1
Q.No: 82
IL P &L A/C 11. G U3 e EE A
III. Balance Sheet III. 9eF U3 (G0 9ie) &
A Only I Faa 1
B Only II1 &ad III
C Only II Fad 11
D All T, IT and III ) milt III GFRIII
Q.No: 83 ' Cischarging of all collection of watersheds into the same major body of water is referred to as a werdRl & Wl duel @) ues gl v s R 11 8ls &4 g1 sgd g?
A drainage basin w4 et ke
B wetland SRy
C | sewage drainage system vﬂﬂw%ﬁmﬁm
D watershad ey
Which docurnent lists the hazardous ingredients of a product, its physical and chemical characteristics , its effect on human health, the chemicals with which &1 I G&IE9 Rl JaIE & Wereie s, o Ailde e YamFe [dwe, wHg @l ¢
Q:No: 84 it can adversely react, handling precautions, the types of measures that can be used to control exposure, emergency and first ? FyTErT, Wi ® FfET S e S [y SR ae 3o U, Suam T SN 3ed Ug
A international Globally Harmonized System _ - o - . mﬂa%ﬁwmwmm .
B STP Tl
c ssp gagHd
D Material Safety Data Sheets AT AT T TS
Q.No: 85 | Which scheme is initiated by Indian Government through which land and water is used efficiently in a sustainable manner to improve farmers livelihood | YR WR&R FRI S i At = 31 775 @ forers mem & fparit =%t anofifaen & gure & forg oft &
A | IWDP | smgseegErdt .
B WDC-PMKSY mﬁ'm
C DPAP | Stefidt
D | PMRY Ixﬂ'q’qanqaﬁ
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Q.No: 86

A

B
C
D

Q.No: 87

o 0 ®

Q.No: BB

Q.No: 89

O N0 W >

Q.No: 90

L= T v

Q.No: 91 Supervisors and employees must be tralned to work safely when handling pesticides, they should wear clean

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx

Fa vy v qd o simufer gl  ow g F1 3 g amufy gul Agl Bt @ wdh

The higher level of floads and droughts are led by
less water of water

fog

lower precipitation

higher precipitation

Primary aim of watershed protection is:

to produce energy

to preserve, sustain and restore water guality
to deals with epldemics

to manage urban settings

Alcohol percent in wine should be

5-10%

20-30%
130-40%

10-20%

Fixed cost includes..?

1. Taxes

II. Insurance

111, Depreciation on machinery
Only III

Only II

Only I

All I, IT and III

Pollination present in walnut is by
wind

Hand pollination

| Birds

Insect

A1 AR T o W e qa
Tt &1 %8 T

BE

FH a6t

3= auf

TR S <l Urlie 93w 2

ol A T & g

At Bt TUIEE B G WA, el w1 i ggre o & e

TETRT § e ¥ 't
e A T W T ¥ o

TR SHeehige F1 AR o T Tifge?
5-10%

20-30%

3040%

10-20%

AR T = -7 i 1.2
1. i

11. T

111, 7= R g

g@ I

Fqd II
Faa 1
-l 1,11 3R 11T

afEie # I RS gRT g 82
Bar

Y A RO

geft

Bl

FICIF! B G TG THEE! SR BRG] T R U & B O B o i e o
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A LLY wogny
B PPE Livi
c PEP L]
D LLT Taged!
Q.No: 92 | According to National Bureau of Soil Survey and Land Use Planning, the number of Agro-Eco regions are Tt TgaT wdeo S fH FERT Do SR & AR -t o St wem §
A 15 15
B 20 20
G 8 8
(8] 24 24
Q.No: 93 Male plants can be converted to female plants by 2 deff 1 fr e & wwer chelf & ufvafi o o wwm @2
A Wedge grafting A riGE
B Epicotyl stone grafting eiwegRe T AT
[ | Inarching gt
D Topworking eigafehT
Q.No: 94 Which nutrient is absent in factorphos BraeiE 7 #9 W UYe dd T8l g 87
A | Phosphorus BRERT
B Nitrogen g
C Oxygen afieiiory
] Potassium gy
Q.No: 95| Clove, commenly used spice is obtained from which part of the plan.t B-I'Iﬂ'cﬂ'{ T SIS [T W aren wEe, i, 0 Ry e g i e e g
A Flower T
B Stem GE
C Leaf W \ a U e
D Root o N ;Té_ -
The level of variable cost is influenced by ? URdd-sllel citiid 1 &2 [Had uanidd diar 22
L. Only fixed cost 1. Faa R ana §
Q.No: 896
1I. Only the duration of project 11, Taa ufdiemr @t @iy g
111. Only on uncertainty 111, el 3R 4
A Only II Fad I1
B All I, II and III wofi 1,11 3ftv 111
c Only I Faq I
D | Only IIT S 1L

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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Q.No: 97 | Which ameng the following statements about glycolysis is not true?

T e H ey § & i 9 e w87

A The energy-releasing steps of glycolysis produce two molecules of NADH. TATRE I & Geli-[omta a0 § NADH ¥ gt 300 Ie0d $ed &
B The energy-releasing steps of glycolysis produce four ATP molecules per glucose molecule TSR § Sel-RuEe IR0 S g AR e & § 9% ATP 30U 30d i §
C The six-carbon glucose molecule has been converted into two molecules of a three-carben end product TE-TIa- I A BT A-B1 3 Ig F 5 arged # afvafda i s g
D The site of glycolysis is mitochondria. TagH IR 1 Rrarera wEdsiea ¢

Q.No: 98 Central AGMARK laboratory is at- Helly wanndh weline wel [ 27

A Nagpur AR

B Jaipur R

c Hyderabad e

D .Chennai 75 ) | ) )

Q.No: 99 | Instrument used to measure solar radiation is Hr fafeor %1 Anm & fag TR e S e JuEe gl g

A | Barometer e

B Psycrometer Eieakeined

C Anemometer Q‘ﬂﬂ'lﬂ’f:’l

D Pyranometer TRRFHET

Q.No: 100 Propagation of annual drumstick is usually done by 1 7Y TR a1t Wger @1 WA fdrad g S o g2

A Root Grafting _ﬁ'ﬂﬁﬂ

B Seed dter

C Root Suckers ¢ god

D Limb Grafting Foreg TvfeRaTr

Q.No: 101 Which of the following teams did Pele play for? ﬁaﬁ@a 3 9 A Fm & o O B 4r

A Spain |

B Portugal a'cf'Tl?l

[ Brazil EIEiG

B Argentina arfen

Q.No: 102 The central highland region of Madhya Pradesh includes how many uplands?

A

B
C
D

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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.No: 103 Which of the following rivers is known as the Tsang Po in Tibet and Jamuna in Bangladesh? FrafiEe % & SF-0 7 R 3 cgin W e i 3§ ¥ T 2 Sl ach g2
Q

A Brahmaputra RSl

B Yamuna g

C Indus fiy

D Ganga Linig

Q.No: 104 Which of the following dynasties’ rulers were known as the ‘lords of the Dakshinapatha'? Frofalaa # 9 fvg To9y & I o Sy $ \Ey & w9 3 S 9 9r?
A Shakyas A

B Cholas e

C Satavahanas Hrdargd

W] Kushanas Y

Q.No: 105 Vijay Kelkar Committee is associated with . . |ﬁ.’ﬁm G 1T SR 1)

A Tax reform BN FUR

B Disinvestment faford

c Local government |'\‘=-|1=ﬁ‘ﬂ TWFR

D Center and state relation |ﬂﬁ SR T ey

Q.No: 106 Which of the following Committee recommendations are related to the estimation of population of poor in India? Fafifen 7 4 39 4 offa & R wwa 1 e # o ¥ andem & dele ¥
A Chelliah Committee Afeeran wftfa

B Dutt Committee o Aty

C Chakravorty Committee Tepant it

D Lakdawala Committee TFSETen T

Q.No: 107 Since which of the following year did the Madhya Pradesh Rural Road Acade}ny (MPRRA) sta.rt its operatio.n? ' ' |ﬁaﬁf@ﬁi’{ F geaes ani GEe el (T HR.R.) A g 9 & o e gF
A 2018 - - - - - . - 2018 .

B 2011 - ) - |2011

C 2009 2009

D 1999 |1999

Q.No: 108 Who constructed the famous Rajwada Palace of Indere in Madhya Pradesh? |mmm o §2R & uftg TorareT Hed @ Al e geam arr

A Ahilyabai Holkar |af|?-;mm'§é\m

B Yashwantrao Holkar I §led?

c Tukoeji Rac Holkar | gt 7 giew

D Malhar Rao Holkar AR 19 Besy
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Q.No: 109 Which of the following is the oldest temple at Pattadakal? FufalEs o & ve) gwre o Yed g vl e er
A Jambulinga Temple Sgftn iR

B Sangamesvara Temple TR Higw

C Mallikarjuna Temple aferere- Hiew

D Virupaksha Temple foreaner wifaw

Q.No: 110 Who is knawn as the "Iron Lady"? TR T T & R A s g2

A Margaret Thatcher Arive daw

B Hillary Clinton ot fete

c Angela Merkel Tolen AFa

D Golda Meir et Hiw

Q.No: 111 Which of the following activities fall under the tertiary economic sector? Frafafea # @ o niRf G soffe dve & andt g2
A Forestry aifrat

B Banking #ftm

c Weaving T

D Dairy &

Q.No: 112 Which famous Indian playback singer adopted the stage name as Kishore Kumar? T uRrg wReits e o A Y @1 AW IR ghR & = 1 s
A Gautam Anirudh a Tﬁawarﬁw

B Abhas Kumar Ganguly STHTH FA A

C Kedarnath Bhattacharya FgreTy UETET

D Hemant Mukhopadhyay %ﬂﬂm

Q.No: 113 World Trauma Day is observed every year on which day? ﬁ%’ g feay g e ]

A 30 October 30 IgeR

B 16 October 16 SEGAT

& 6 October 6 aFgET

D 26 October 26 IETE

Q.No: 114 What is the core mainly made of? TR gE w9 § el @ diar 87

A Nickel and magnesium free ot Heiiftrm

B Iron and nickel GG 3z e

C Iron and aluminium e ot e

D Iron and magnesium areT i AR
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Q.No: 115 Which Indian institute has started a large-scale operation to process and dispase of solid waste generated solely by the institute?

T wirella e 3 e g Gl TRE O Il S a3 YR R SR Ruer & e el i

A National Institute of Urban Affairs, Delhi F7Edt wHEl & g deE, el
B India Institute of Research, Pune HRA U Hwir, ot
C India Institute of Science, Bangalore HRA faTi‘lT"'T?iﬂl'l':f, HERI
D All India Institute of Medical Science, Delhi. afEe YRdg dﬂﬂﬁiﬂﬁﬂl’ﬂlﬁ, feeit
Q.No: 116 Food laws fall under which of the following groups? w7 i Pt ¥ & g a0y % ofwid o 87
A Mandatory standards and voluntary standards afar AFw ot wise qme
B Preventive standards and hygienic standards s 1w R 9 AN
C Safety standards and security standards ECICE ECa AT AHS
D General standards and potential standards HET A AR GHIfEe o
Q.No: 117 People don't feel gravity in manned satellites, which are knownas____ ? TAFIgAd SWIEl § O by Tegd el & 8, fog o w0 § FF0 e g7
A Less-weight gravity T FO ATE TEERP T
B Escape velocity R AT
c Gravity-weight -
D Weightlessness WRECT
Q.No: 118 Bacteria divide by sitamy fanfera s &
A Spirilla. |f'&lﬁ'ﬁT
B Fusion. | et
C RNA. HRTAY
D Binary Fission. T fawsa
Which of the following nutrients are provided by fertilisers to plants? ﬁ'ﬂﬁ‘@ﬁ A WWWW G4 ®T we W g7
1. Nitrogen 1. ABCIEH
Q.No: 119 2. Phosphorus 2. BRIy
3. Potassium 3, TrefEmH
Chaoose the correct code. HE FG T
A 1,2and3 1,23R3
B Only 1and 3 e 1 3R 3
o Only 2 and 3 Fad 2 4R 3
D Only 1 and 2 Paw 1 9K 2
Q.No: 120 Which is the correct representation of Charles’ law? o1 & Fom & gt uRffie %‘ ?
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A b it 3 W oL
B Vo<T VT
1 1

Vo= Vo=
c P p
8] Vo £ Vooz

T

{.No: 121 Which of the following methods helps in separating cream from milk? Fufefad T 4 €14 4 R[R ) d 11 (BN Repidd 1) Ygiuse 27
A Sublimation ST
B Centrifugation T
C Chromatography Eapripil
D Distillation GG
Q.MNo: 122 If we heat water, it will contract till the temperature of - |qﬁ B9 UF I FG 8, i 98 9I9AH 9 e -
% q0¢ q0¢
B 50K | 50K
¢ 2.734°C ‘ 2.7340C
D 49K 2K
Q.No: 123 The colour of dustbins in which non-biodegradable garbage such as plastics, metals, glass, etc., are collected is FeH & 1 fored IN-Sadieeig S 5 wiiies, o1, $19 o1l A [0 90 €, F1 9 89
A Orange —
B Red L)
[ Blue Htar
[ Green L)
Q.No: 124 DPT vaccine is categorized as which of the following? |t it & i1 Pl o § e wor @ g &7
A Anti protozoan vaccine |§Tﬁ"l Tt ST
B Anti rickettsial vaccine ufg Rt e
[ Anti viral vaccine |H‘Fﬁ foams S
D A combined vaccine & TYEd Trel

Electrical energy can be harnessed fram - T3 Sl o1 2led A [Fr = Y g -

1. The Sun 1. 33a
Q.No: 125 .

2. Seas 2. ARE

Choose the correct code - eI Flg F1 Tu Hifeg-
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Both 1 and 2
Only 2
Only 1

1 30k 2 S
Had 2
Fad 1

0.No: 126 The heat from the Sun reaches the Earth's surface predominantly by which of the following modes of heat transfer? g & 'i?cn ] Helg deb 1l U D By Ady & RulHiEd 08 By mean § yged 87
A Induction Ror
B Conduction TaE®d
C Convection e
D Radiation Tafdm
Q.Mo: 127 We can eat the roots of many plants. Which of the following is an example of a plant with edible roots? FUETY dief a6l Sl & "l Hbd IR NERR R o e B R P g | 97y gid a7
A sweet potato XHThG
B potato ST,
C Wheat ﬁ’ﬁ
o ginger AP
Name the process which involves transfer of aming group to keto acid, to form a new amino FWuem s M w el e s g e mp S sa e d
e TR fa oI
A Peptide amination UgTge e
B Reductive amination Rrsfaea daiua
C ATP reduction g 7
D Transamination iguitmEE
Q.No: 129 Which of the following statements Is Invalld with respect to open-source software? Sﬂﬁ?—@ﬁmaiﬁﬁuﬁﬁﬂﬁf@ﬁ F{ B AT S 87
A It more secure and stable than proprietary software g Wi wirdaT Hﬂﬂ'@’ﬁﬁ it '\ER‘TEE’I aRfere
B Tt tends to both incorporate and aperate according to open standards, TE G AFST & AR aftifa o) darfera Y & wafst waan 21
C It provides phone support and email support. Tg B G SR §0E U ueH ¥ gl
D People have more control over open-source software 3o \RT ATeEdaT W) Wi @ et Frdam g %
Q.No: 130 Which of the following architecture is used in 1-7 computers? i-7 Fges # frofelea § € 5 enfdcaas o1 Sua i s -]
A Next generation Intel microarchitecture (Nehalem) FHE AT o0 AEHleaeat (eT)
B Penryn microprocessors TR Argmivaae
Cc Pentium Processors T TR
D Quadcore PIEDR
Q.No: 131 Which of the following is the recurrence relation for binary search? Fafafae 7 & e9-ur a2 5d F e gady @dy ey Rawm) 82
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A Ny =Tn=1)+1 Ny Son=-a)+ 1
B (nN)=T(n/2)+ 2 (n)=T(nf2) + 2

[ T(n)=T{n/2)+1 T(n) =T(n/2) +1

D T(n) =2T(n-1)+1 T(n) =2T(n-1) +1

Q.No: 132 Which of the following describes the connection of peripheral devices to a computer? o F 0 $uet ¥ TR SUTHU & & 19eF & au Y 62
A Internal connection TP P

B All connectian ot FeH

C Computer connection SR PR

D External connection e T

Q.No: 133 Who created the advanced language "C"? | At dae c v Fmfor e R

A Daonald Kunth SIS FU

B Seymour Papert HHR tad

c Niklaus Writh Fwara wge

D Dennis M. Ritchie st oq. =i

Q.No: 134 Which key is pressed to restart the computer? | FegE 1 EReKE e & o -l el R o #2

A Backspace + Ctrl Backspace + Ctrl

B Reset | Reset

o Del + Ctrl A | Del + Ctrl

D Ctrl + Alt + Del Ctrl + Alt + Del

Q.No: 135 Which of the following traits does not apply to computers? |fel"ilﬁ’1'@ﬂ o w-41 PIEY T A A gt &2
A Versatility | agaeh wfe (Versatility)

B Intelligence wgftea (Intelligenée)

C Accuracy |ﬂ'¢“?'cb—d1 {Accuracy)

D Diligence uf¥ywd (Diligence)

Q.No: 136 Bar charts can be plotted on |e1|e dicy &l 4R teife bl vil Hebdl 21

A Only two data series |ﬂ*‘ﬂ'¥l":ﬁ e e

B None of the given eptions |ﬁ1zn1zﬁamﬁﬁﬁaﬁ€=|€f

C Only one data series |ﬂﬁlﬁ2&?é€[ gl

D Multiple data series neetad Se1 g

Q.No: 137 The phrase "computer equipment” refers to equipment that might be added to a computer system to increase its capabilities. TR "HRIER IUHI" ST SRV B Falid weal & for Fogey e § ot 4rnell & ag=
A Peripheral device uftefig gumen (Peripheral device)

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx



uvigital gaaget

System add-on

ISIWMCT YIvC

fareen ¥5-2if7

Auxiliary equipment

Hed®d IS (Auxiliary equipment)

(.No: 138 With what does the "Decode” phase of machine cycle, decodes the instructions? et 7w @ e mn vl ln o tes s ¥

A logic unit difvrs gie

B memory unit ﬂiﬂ'ﬁ‘}ﬁf

C control unit Wgﬂ?l"-]ﬂ?{

D instruction unit e e

Q.No: 139 Which component is in charge of formatting user-provided data so that computers can understand it? |anﬁ11a?<ﬁ BRI Ve T Y 221 & WG (farmatting) T & 710 $H-91 9o foadeR § aif

A . Cutput unit |M§EE€ | \ i

B Input unit g gfie

[ Arithmetic and logic unit Bjwmfora Jﬁ'\'?ﬁ&?ﬂ% {Arithmetic and logic unit)

D Memory unit |ﬁﬂ’1’ﬂ'¢1ﬁ?

Q.No: 140 Which one of the following error will be handle by the operating system? FrafafEa 7 @ oiF 91w Wi fien g5a 76 o 9w g2

A Lack of paper in printer & i TR = firee

B Power failure TR e

C Connection failure in the network TR e’ 1 g ead

D All of the given option %ETI'E{ |t fiweq

Q.No: 141 Which of the following is invalid with respect to worms? Faldidd 74 £ 41 bl P Gee 7 s 27

A It cannot controlled by remote ‘sﬁ frrite @ frdfaa =8t form = waran %

B Worms can be removed by antivirus mmﬁﬁmmm%

(& It is capable of working on its own UE U 17 S HY § WA 8

D It can send emails without our knowledge \ W | g T T & R S Yo e 2

Q.No: 142 With respect to computer network, what does "LAN" stand for? |asum°rea$ & ggd F, "Lan &1 o g

A Lacal Array Network | P oY Acad

B Local Area Network wrae ufar Jead

C Local Array Number |Fﬂﬂﬁ=ﬁ'€

D Local Area Net |?ﬁ7ﬁlqﬁ'ﬂ1ﬂ3

Q.No: 143 Raghu is atlpoint A, IHe wa[ks. 3 kl‘fl to Ithe North and then tulrns to his left. IHe v\falks 4 km in this dire.ctian. He l:urns.leﬁ againl and walks 6 km. If he wishes | T@F g R IR MR 3Rt R aoar g iR fim amA o siR gem B st R A o
to reach point A again. In which direction should he be walking and what direction should he be walking and what distance will he have to cover? ZAR ST e &, o 9 fa e & e =it o aw et g1 am s

a North-East, 5 km Iue-d, 5 et
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South-East, 4 km | aftor-d, 4 fit
South-East, 5 km | 2féor-ud, 5 it

Francis started walking in east direction from point P. He walked for 3km and then toaok a right turn. After walking 24km, he took a left

gz turn and walked for 4km and stopped at point Q. What would be the shortest distance between P and Q7 spife g P 9 et o it ot Ty e e 3] 3 ol vr 5 v e g 2] 24 ot v e ww A g
A 20 km 20 ot
B 22 km 22 fdt
c 23 km 23 fort
D 25 km 25 it
1n the following question, select the related number from the given alternatives. Frefarfiee v © fBu mo et f @ wafn dem 1 ghul
(Q.No: 145
63:18::54:7 63:18::54:7
A 28 28
B 21 21
C 20 20
B 25 25
Choose the choice that is related to the third term in the same way that the second term is related- to the first term. E G ﬂef ot o ug ¥ el avg deElie g @fﬁ?ﬂ?{ g, TEe TE 9 wsfEd g1
Q.No: 146
RPMI . TNOH :: VLQF : ? RPMI : THOH :: VLQF : ?
A XuID | xuID
B XisD XIsD
C Xips XiDs
D Di1sX DIsSX
A started from point P and went 2 ki East; he turned right and covered 3 km. At the end of 3km, his cycle got punctured. He left it with the mechanic and AP I g e § IR 2 .l WA &; i ag e SR qga § e 3 i S gl oo w
Q.No: 147 turned right and went 1 km. Then he turned left and went 1 km and finally he turned right and after walking 1 km, reached his destination. taﬁﬂﬁ%ﬁﬂ%ﬁﬁ%miﬂgﬁ?ﬁ% ‘?mzﬁ aﬂ?ﬁ'ﬁﬂ’é’aﬁ? 1 ﬁ“ﬁm &l i
Y aF 4T SR TS @ o 1 . S & g ofe: ow o ok ew € o1 1 fah R ¥ e
How far is A's destination from P (shortest distance in km)? P8 A @l fdoy [l g & ([, T ysd an gfy?
A 4 4
5 N Ny
c Va4 + 32 Va2 432
5 N N
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Q.No: 148 In a certain code language, R is written as 1, M is written as U, A is written as K, Y is written as C, [ is written as F and P is written as B . How will ‘PRIYA’ be written as in that language?

Aol e i VPRIV A B R g

A BIFKC BIFKC
B BIFCK BIFCK
C BFICK BFJICK
] JBFCK JBFCK
Find the missing letters in the following series. Frofafed saw d s HER AT CHIEEH
Q.No: 149
F K B U ? FK PBU?
A G G
B z z
c D D
D A A
Find out the wrong term from the given alphabet series. &1 T auinren e & Tad 9% 9 Bl
QNo10 ey QLM TOP KNS HOV TKI QLM  TOP KNS HOV
A QLM |Q|_M
B KNS [l W IKNS
c TOP TOP
D TKI |TKJ
T0 Wy TR g A ot of o8 1 g ¥ o T oty ool T it W\t '
Which is the WRONG term in the following series? PR fEa sew 3 T 98 $F W 82
Q.No: 151
HDFG, GEEH, FFDI, EGCH, DHCK HDFG, GEEH, FFDI, EGCH, DHCK
A EGCH | EGCH
B HDFG i HDFG
c DHCK DHCK
D GEEH | GEEH

(Q.No: 152 Find the odd ane out from the given alternatives.

A 36:48
B 24:32
Cc 12: 16
D 27:18
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Q.No: 154

o N m P

Q.Mo: 155

L I I

Q.No: 156

o 0w

Four peaple Veena, Malik, Chaman and Dixi are sitting in a linear row facing south, not necessarily in the same order. Dixi and Veena are the adjacent
neighbours of each other while Veena is sitting at the extreme right end of the row. Dixi is not a neighbour of Chaman. Who sits to the immediate left of
Dixi?

Malik
Veana
Chaman

Dixi

Rajeev ranks 12% from the top and Krishna ranks 26t from the bottom. If there are five students
between them, then how many students are thers in the class?

a3
42
41
44

Choose the odd one from the given alternatives.
IPQ
RYZ
FGM

UBC

Q.No: 157 Two persons earn in the ratio 4 : 7. If both earn Rs.3000 more, the ratio of earning will be 2 : 3. Find the sum of their earning (in rupees).

|13
o

11
| 10

TR T 9T, A, T SR e v uie | SR 91 ok 09 S 98 8, S0 6 i 3

TR Bt 7 o 7 1 uSr 727 21 e & 3 910 i da1 97

ufers
ks
CLE
| ot

Tl wid F 128 BF 0§ o) Fn AR Y 269 ®F W ¥ A9 39 9 ui el € @ s

43
42
41

a4

| o et 2 ot 1
T
RYZ
FGM

uUBC

|G =g 4 ¢ 7 % orgme & ora €1 ofk T 3000 %, ST TR, & 9 E AT 2 1

A

B
C
D

19800
15400
16500
13200
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Q.No: 158

Etmm m pmm me tm m m e m s emm me e e feemm —e —m e e —on

d|ese| is increases by 15% and price of kerosene is decreases by m%, the overall increase is of 8%. Find the value of m

e et mt mem pmm m e m e e

|61 2 R M A o it meto D e i § et Metens 8% 1 g2 A 31 m w1 1 i

A 15.1 l15.1
B 16.4 16.4
C 17.2 17.2
D 18 |18
Q.No: 159 Simplify: 3x2.5-1.3x9+23x4 WA DML : 3x2.5-1.3x9+23x4
A 6.5 6.5
B 6 6
C 5.5 5.5
D 5 5
Q.No: 160 Simplify: 0.3x 0.9+ 0.6 x0.5-0.2% 0.1 A DI : 0.3 % 0.9 + 0.6 %0.5-0.2x0.1
A 0.45 0.45
B 0.55 0.55
C 0.40 10.40
D 0.50 0.50
Q.No: 161 Find the area of rhombus whose diagonals are 12 cm and 21cm. T 1 faha T e s fimef 12 e ot 21 36 9
2
A 100 em? 100 HH
2
B 120 cm? 120 T
2
c 126 em? 126 IO
2
D 124 em? 124 I
No: 162 10 buckets of water fill a tank when the capacity of each bucket is 27 liters. How many buckets will be required to fill the same tank if the capacity of each |Q'CFEH='&>;[ 10 U i Fredrt ¥ o> A &, Tl UdE aredl # amal 27 del 81 o R ndE 9w
Q.No: bucket is 9 liters? gﬂﬂ?
A 32 |32
B 30 30
c 38 38
D 36 |36
Q.No: 163 500 g of sugar solution has 45% sugar in it by weight. How much sugar must be added in the solution to make it 60% sugar solution (by weight)? |‘=ﬂ:ﬂ ¥ 500 TW O ¥ 4R F ®0 H 459% A9 81 9 § <R fea S0 fiems s R i die
A 180 gm | 180 7=
B 195.25 gm 195.25 9H
C 187.5gm 187.5 94H
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5§4x=+1)—3x_ Aot L
Q.No; 164 E=————=8 andx+0, then what is the value of(v'ﬁ m) ?

afy S gy 2 0% A (VIR — ) A R G

9] ez]
™ &l

L=}
N

Q.MNo: 165 What is the area of a rhombus, whose one side is 20 cm and one diagenal is 24 cm?

A 386 cm?
B 240 cm?
c 480 cm?
D 384 cm?

Two trains started from a station, at the same time in the same direction, at speed of 70 km/h and 60 km/h. What will be the distance between the two

A

Far

o

T TG 1 A T E, R U et 20 S ST U Tl 24 T 82
386 T2
240 i
480 u=i2
384 w2

QNDIIEE | e o TF BIE Y G A 0T @ T, ve § wr w e 70 fmd e siw so e it ofa @
A 54 km N 54 km

B 60 km 60 km

c 42 km 42 km

D 84 km

.No: 167 Two consecutive numbers added together equal 19. Locate the numbers.

A 9, 10
B 8,9

C 12,13
D 7,8

The vertices of a APQR lie on a circle with centre O. SE. 18 a tangent to the circle at the point R. If QR

.No: 168 . i
fMe bisects the ~ORS, then what 15 the measure of ZRPQ?
A 45°
B 60°

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1gZ2recruitementesbresponses/ViewCandResponse.aspx
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9,10
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7,8
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D 30° 30°
A trapezium shaped path has parallel sides of 25m and 5m and its width is 4m. Find the cost of Ueh WA o TR o TeT o1 GHIAIGT [ 25 T S 5 i @ S suehi <iers «
Q.No: 169 tting grass on the path at 15 rs/m.2 w/ FR o g i
A Rs. 6800 6800 94
B Rs. 3750 3750 T
C Rs. 15000 15000 9
D Rs. 900 900 ¥9d
A shopkeeper organizes a sale on Happy hours, offering a discount of 162 on all itemns. O IR g A T AR UX 16% i g ST A wd 5, ST aan
Q.No: 170 gei)1, he makes a profit of 20%. By how muchpercentage CP was lower than MP? T A, 9 20% FTETT FHTAT 5| ST Toa &1 TATTR 5 Hed (4 F1a9d HH ¢
A 10% 10%
B 20% 20%
c 30% 30%
D 15% \ 15%
Q.No: 171 dg Wi umr oty un 59 g 7 gl arey g
A TEAES "I
B Afdaaras |
c HIadTee Ty
D oA T

Q.No: 172 ReRIRa 7 & aiy ver ) on e’ 39 digd 7T gd-m @ 82
A &g

B @
C Gil
D o

Q.No: 173 FmfalEa 1 & yewan” @) e s gl

A et
B gt
C T

D el
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A R, &, & &, gwf, qentd
B <h R, it

c s, <0, TR, R

D arate, A, @ty

Q.No: 175 Pmfeied # & aga= es &1 907 Bife-

A g
B e
c afeaf
D fafem

Q.No: 176 R N & @ia-u1 Reey dsrd aftfes da o1 adl gaigeo g2
T e # firesd wuma
T A & § gt FAIRE
welifr it @rg off faedie &,
e ¥t e aEy o
TSt amuT ), TR o & e ¥
T st &t i, a5 o o fftem @
PR it 91, Ry ga aredt ammmn
wigl-get B ag waant 4 et
fmm =1 o wiiw ot
T T §O €ifga € aemn
et u¥ o o 3ot
FUTH T TEAY B AT
B ™ T g, Ry oy P T
ARG F TF A Te, U g1 9% G W’ A 9|

Q.No; 177 Fefaiea & § ~amea- &1 gaigam 2eg o 57

A e
B Eiceiced
c gz
>} s

Q.No: 178 TiTiafea & & arge @+t are Wes o w0 Bifog-
A LICIE]
B FafEs
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wihrfta

Q.No: 179 Fe1 ® & foow fawen & fésre o Y fors o1 v wat fosm o 82
A = ot B v wriega (o Tuew Fidw) § g™ &1 s o
B iz ¥ wrar-for @ @ e #1
c gert +F weT & —"wwfed wive ww Al w1
D o e aifiramg )
Q.No: 180 Frafafan & I deife " wRT g & 9 T8 ¢ & am and @2
A P P A P PR w8, W B AE|
B ATSd BIE 3 W 1 Fo-1-59 7uTE 9 1§ & S
C g T &t w-attwa
D DU Bt SeH o e
Q.No: 181 3ada (oft &7 % 3 ot sl aa {291 =1 ¥e1 § 99 &FF T g0 S 3E B
A wrefire
B T
C TR
D GIcEiECH
U 3 HRR W@, v R
Q.No: 182 dspel 29! di= &1, Wl w1 @
It i # S T 22
A Y
B Mid ™
C HATE ¥
D FE I
Q.No: 183 &Rw & woigar e Frefofen & S s &2
A e
B Bunied
c rfd
D Hergd
Q.No: 184 Fraftiem § & $F-91 Tsg q0@Y IO B 92t SEw 87
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Q.No: 185 Fdlalad 7 & “uRaiRis o1 ylewin 2sq qur gn?

A ThaTas
B af¥ee

C TiE
] ufyars

In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find ocut which of the four combinations is correct.

P. The man was evidently a foreigner of some sort, he wore a peculiar hat on his red hair, which was neatly brushed.
R0 Q. He had a fareign-looking cape round his shoulders, and brightly polished, pointed shoes.
R. For same reason he wore bicycle-clips round the bottoms of his trousers, and this made him even more foreign-looking.
S. He wore dark glasses on his nose and his cheeks were very bulgy.
PQRS
QRPS
PSQR
QSRP

o0 m o>

Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually ;urrect.
Q.No: 187
She runs a successful software company she didn’t complete her college degree.
in case
even though

when

o0 W

now that

Select the synonym of the given word.
Q.No: 188
Serene

Precise
Peaceful

Unfamiliar

o0 ®

Upright
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Select the most appropriate synonym of the given word.
Q.No: 189
Grotesque
Bizarre
Siren

Absent

o 0 B P

Laughable

Identify the segment that contains a grammatical error. If there is no error, select 'No error'.
Q.No: 190

He sat down in a darkly comer and covered his face, and would not say a single word to anyone.

not say a single word to anyone.
He sat down in a darkly corner

and covered his face, and would

O 0w >

No error

In the question below consists of a set of labelled sentences, These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences fram among the options.

P. The Mi-35 was seen as an assault chopper designed to carry troops into heavily defended territories.

Q.No: 191
Q. India has been operating the Russian arigin Mi-35 for years and the Apaches are set to replace the Russian-made choppers.
R. The two pilot Apache on the other hand is seen as a dedicated attack chopper.

S. The Apache is sean as the first attack helicopter in India's defence arsenal.

PQRS
QRPS
SQPR

o 0 m

RQSP

Select the most appropriate antonym of the given word.
Q.No: 192
Infatuation
Portent
Cupidity

Injunction

o 0O w =

Indifference

Select the most appropriate meaning of the given idiom.

Q.No: 193
Move the goalposts.
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Unfairly alter the conditions or rules of a procedure during its course.
To do your research and understand clearly what your goals are.

To maove the goalpost after an attempt has been made to score a goal.

Select the most appropriate optian to fill in the blank.

Q.No: 194
I knocked at the door but got no .
A question
B response
C creation
D whisper
Select the most appropriate synonym of the given word.
Q.No: 185
ARTFUL
A Benign
B Crafty
C Ignorant
D Prudent
In the following question, a part of the sentence may contain an error. Identify the part that coﬁtains the EFI'EJI' and select :It as your answer. If the sentence is free from error, select 'No error’.
(Q.No: 196

The number of cases of rash and negligent driving are on the rise.

No error
driving are on the rise.

of rash and negligent

o 0 w

The number of cases

Select the most appropriate word for the given group of words,
Q.No: 197
An afternoon performance in a theatre or cinema.
Canvas.
Matinee.

Comedy.

o 0 W

Premiere.

Q.No: 198 In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.
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Q. He gave her a vessel of water and then went back to his place and his thoughts, and with his mind busy over his last adventure, he put his gold inte a long and narrow purse, which he could easily carry in his belt.
R. During this time the old woman was busy over her prayers.

S. When she had finished she came and prostrated herself twice before my brother.
SPQR

PQRS
SQRP

oN @ F

PSOR

Identify the segment in the sentence which contains the grammatical error from the given options.
@ MPESBE. all rights reserved

Q.No: 199

Scientists believe that many animals have a unique languages of their own.

their own
that many

languages

o 0O @ =

Sclentists

Q.No: 200 Select the correctly spelt word.

A Magistierial
B Stringent

iz Faltoring

D Flexibal
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